VBS Aros
Mandag 2023-05-22

Partavling, 10 bord, 19 par. Antal brickor: 24. Medel: 192.6. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 11 270.5 70.45 Lars Hedqyvist - Dilip Chawla 47282 26001 BK Orjan - VBS Aros
2 12 244.4 63.64  Britt Crofts - Per Forsberg 37575 36060 VBS Aros
3 20 237.0 61.72  UIf Bergdahl - Gunilla Mollervarn 11639 28524 ABBBK
4 9 225.8 58.81 Leif Backlinger - Tadashi Suzuki 80583 83044 VBS Aros - BK Lyx
5 7 218.2 56.82 Marta Gynt - Stig Karlsson 92328 87708 VBS Aros
6 5 207.3 53.98 Claes Nordstrém - Goran Schultz 26230 88966 BK Orjan - VBS Aros
7 18 196.0 51.04 Kerstin Eriksson - Dragica Fredriksson 55346 55341 VBS Aros
8 10 193.1 50.28 Bengt G Lindgvist - Inga-Britt Lindgvist 50189 41020 VBS Aros
9 8 192.0 50.00 Claes Humbla - Géran Sunehag 90143 56153 VBS Aros
10 2 190.9 49.72 Eva Rick - Ulla Lénngvist 33357 85366 Hallstahammars BK - VBS Aros
11 17 189.0 49.22  Rolf Andersson - Leif Rick 87449 87414 Hallstahammars BK
12 6 188.7  49.15 Urban Lundbéck - Robert Granath 18428 55344 VBS Aros
13 4 1789  46.59 Gudrun Schultz - Ann-Charlotte Lewén 92348 92347 VBS Aros
14 16 178.0 46.35 Inger Persson - Eva Ringvall 79099 88930 VBS Aros
15 3 175.6 45.74  Ragnar Bergqvist - Bittan Bergqvist 43430 43429 VBS Aros
16 15 170.0  44.27  Elfride Bjorklund - Ingrid Eriksson 39828 28537 VBS Aros
17 1 150.5 39.20 Kethy Ullenius - Birgit Andersson 7866 34935 VBS Aros
18 14 127.0 33.07 Ove Lindahl - Arne Andersson 88926 87731 VBS Aros
19 13 126.0 32.81  Siv Sandberg - Yvonne Astrém 87683 45275 VBS Aros
1 a2 Bésta kontrakt 2 s E72 Bésta kontrakt 3 aD4 Bésta kontrakt
Nord v 9873 34 O =-140 Ost vE1042 3v O =-140 Syd v EKn8643 4¢ V =-130
Ingen + K1065 NS + K64 ov 4853
#E1096 & ¢ v & NT #DKn2 & ¢ v & NT #Kn2 & ¢ v & NT
4 DKn 4K109865 N 4 8 8 4 5 « D54 4 K109 N48 487 4 EKKN3 497 N437565
v EK6 v 102 S 48845 vKKn97 D853 S 48487 v52 v 1097 S43755
+ Kn3 ¢+ E82 095597 2 + D1083 065955 ¢ KDKn64 ¢ E92 O 8 106 8 6
#KDKn853 #74 V95597 &#EK854 #76 V65955 #103 +#KD965 V 8 106 8 6
4 E743 4 Kn863 4108652
v DKn54 v6 v KD
+ D974 + EKn975 + 107
*2 #1093 *E874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 17 44 O-1 *2 50 12.0 40| 4 17 2NO-2 43 100 150 1.0(11 18 3NO-3 vK 300 16.0 0.0
11 3 34 0-1 *2 50 12.0 4.0|12 15 34 V-2 ¢4 100 150 1.0| 9 16 3NO-2 vK 200 140 2.0
12 15 34 O-1 *2 50 120 40| 7 9 24S-1 &K -100 11.0 5.0| 6 20 2v N-1 49 -50 110 5.0
13 1 34 V-1 *A 50 12.0 40|20 5 INN-1 &7 -100 11.0 5.0(12 4 2vy N-1 49 -50 110 5.0
20 5 44 O-1 *2 50 120 40|16 8 1lv V+1 a2 -110 8.0 80| 1 15 2v N-2 ¢ A -100 7.0 9.0
18 10 34 V= a2 -110 6.0 10011 3 2v O+1 46 -140 5.0 11.0|17 5 3v N-2 +K -100 7.0 9.0
6 14 1INV +3 v9 -180 3.0 13.0{13 1 2v V+1 aA -140 5.0 11.0| 8 10 2NO= a2 -120 4.0 12.0
7 9 2NV +2 *6 -180 3.0 13.0({18 10 3NN-2 vQ -200 2.0 14.0|13 2 2¢ V+2 vA -130 1.0 15.0
16 8 3NV +1 &T -430 0.0 16.0| 6 14 2vDO= 43 470 0.0 16.0|14 7 4¢ V= vA -130 1.0 15.0
- 2 80| - 2 80| - 3 7.3
4 4 DKn764 Basta kontrakt 5  E963 Basta kontrakt 6 a4 Basta kontrakt
Vast v D82 44 N D -1-200 Nord vE6 6¢ N =1370 Ost v 107643 3¢ S =110
Alla + D64 NS + D974 ov 498763
«D2 & ¢ v & NT #KKn10 & ¢ v & NT «D2 & ¢ v & NT
41083 «E N55 49 4 4Knl0 «D4 N 7 127 1110 41098 4DKn32 N6 9876
vE43 vK109765 S 5 5 4 9 4 v10975 vKDKn83 S 7 127 1110 v 952 vEDS8 S6 9876
498532 ¢ EKn 0789149 +1065 ¢K2 061611 +D102 +E4 07 4567
*Kn6 *E984 V78949 #ED75 #9432 V61611 #KKn43 #10865 V64567
& K952 & K8752 & EK765
vKn v42 v KKn
+ K107 + EKn83 ¢ KKn5
#K10753 »86 *E97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 18 24 N= +J 110 160 00| 1 5 44S= vT 620 140 20|20 7 44 0-4 &7 400 16.0 0.0
8 10 4v O -1 vlJ 100 140 20| 9 11 44 S= v7 620 140 2.0|18 12 34 0-3 4A 300 140 2.0
6 20 3v O = LY -140 9.0 7.0|18 12 44 S= vT 620 140 20|14 8 340-2 «A 200 120 4.0
9 16 1v O +2 3 -140 9.0 7.0|13 3 34 N+1 vK 170 90 70| 1 5 24S+1 &3 140 10.0 6.0
12 4 3v 0= 3 -140 9.0 7.0{20 7 34 S+1 vT 170 90 7.0 6 17 24 S= 3 110 8.0 80
13 2 1v O+2 *3 -140 9.0 7.0|14 8 34 S= v5 140 6.0 100| 9 11 14 S- &4 -50 5.0 11.0
115 4v 0= *7 -620 2.0 14.0|15 2 4¢ N= vK 130 40 120|15 2 24S-1 &3 -50 5.0 110
14 7 49 O= *T -620 2.0 14.0| 6 17 3v V-2 A 100 10 15013 3 3#0= aA -110 2.0 14.0
17 5 49 O= a2 -620 2.0 14.0|10 16 3v O-2 a2 100 1.0 15.0(10 16 2N S- LY -150 0.0 16.0
- 3 73| 4 - 7.5 4 - 75
7 & DKn Bésta kontrakt 8 a74 Bésta kontrakt 9 & EKn5 Bésta kontrakt
Syd v DKn643 2v S =110 Vast v KDKn97 2¢ N =90 Nord vE954 14 O =-80
Alla + D532 Ingen +D8 ov + K3
#95 & ¢ v & NT «K1075 & ¢ v & NT #Kn1075 & ¢ v & NT
485 4 K963 N6 8877 4 E10965 & Kn83 N8 8756 « D104 4 K763 N6 7 766
vEK872 ¢9 S 68877 v 653 v 10842 S 88756 v 1087 v KKn2 S6 7766
+ K96 ¢ E87 O75565 ¢+ E10 4953 O5 4576 ¢ EKn106 ¢ 98 06 66 7 6
#873 #D10642 V64555 +D62 #EKn8 V54576 #K93 £D862 V666 76
4 E10742 4 KD2 4982
v 105 vE v D63
+ Kn104 ¢ KKn7642 ¢ D7542
#EKKn 2943 »E4
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
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13 4 2y V-3 4Q 300 150 1.0( 7 17 3NS+2 46 460 16.0 00|11 1 INS+2 T 150 16.0 0.0
15 3 2NO-3 a7 300 150 1.0( 1 18 2y N+1 a3 140 13.0 3.0(17 8 2vy N= 46 110 140 2.0
7 17 2NO-2 a2 200 120 4.0(15 3 2y N+1 &8 140 130 3.0 3 7 INS= vT 920 11.0 5.0
8 20 24 S+1 vA 140 100 6.0 2 6 3¢ S+1 &6 130 100 6.0({20 9 INS= aT 90 11.0 5.0
10 12 INN= &6 90 80 80|13 4 2vy N= +3 110 70 90| 2 18 INS-1 +6 -50 5.0 11.0
2 6 INN-1 &4 -100 40 12.0|14 9 3¢ S= &2 110 70 90|14 10 2¢ S-1 &3 -50 5.0 11.0
14 9 24 S-1 vK -100 40 12.0(16 11 4¢ S-1 &6 -50 40 12.0|15 4 2vy N-1 &2 -50 5.0 11.0
16 11 INN-1 &2 -100 40 12.0| 8 20 3NS-3 49 -150 1.0 15.0(16 12 INN-1 46 -50 5.0 11.0
1 18 24 S-3 vA -300 0.0 16.0(10 12 3NS-3 a5 -150 1.0 150(13 5 INS-2 v7 -100 0.0 16.0
- 5 86| - 5 86| 6 - 7.9
10 « DKn1063 Basta kontrakt 11 & 952 Basta kontrakt 12 » K86 Basta kontrakt
Ost v K8543 5¢ OD-1200 Syd v 87 5NT V =-460 Vast v3 5v V =-450
Alla ¢- Ingen ¢ Kn1032 NS + ED8765
#K73 & ¢ v & NT #K963 & ¢ v & NT #Kn54 & ¢ v & NT
4385 & K74 N 6 3 109 5 4 D84 & EKN63 N3 2322 «D107543 & EKn N57 233
vE9% v10 S 6 3 109 6 v Kn54 v EKD S32322 v EKn v KD7652 S57 233
+ EK97 ¢1085432 O7 103 3 4 + D64 ¢ EK97 O 1011101111 + 109 ¢ KKn O 8 6 11109
D865 #E102 V79334 #EKN107 %84 V 1011101111 &KD7 #3832 vV 8 6 11109
4 E92 & K107 492
v DKn72 v 109632 v 10984
+ DKn6 +85 ¢ 432
#Kn94 &D52 #E1096
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 8 5¢DV-4 «Q 1100 16.0 00|13 6 6NO-1 v2 50 16.0 0.0|18 3 64 V-2 v3 100 16.0 0.0
15 4 4e¢ V-2 43 200 120 40|16 1 44 O= vT 420 140 20| 4 8 4v 0= *4 -420 8.0 8.0
16 12 4¢ V-2 4Q 200 120 4.0|10 20 3N O +1 v3 -430 8.0 80|10 20 44 V= v3 -420 8.0 8.0
20 9 3v S+2 *+K 200 120 40|12 2 3NO+1 vT -430 80 80|12 2 44 V= ¢ A -420 8.0 8.0
13 5 2¢ V= 4Q -90 80 80|15 5 3NO+1 v6 -430 80 80|14 11 44 V= *A -420 8.0 8.0
11 1 44 N-1 vT -100 6.0 10017 9 3NO+1 v3 -430 80 80|15 5 4eV-= ¢ A -420 8.0 8.0
14 10 2¢ V+1 a3 -110 4.0 12018 3 3NO+1 v2 -430 80 80|16 1 44V= v3 -420 8.0 8.0
3 7 3¢V+1 v3 -130 20 140| 4 8 3NO+2 v3 -460 1.0 150(17 9 44 V= v3 -420 8.0 80
2 18 4¢ O+1 s A -150 0.0 16.0(14 11 3NO+2 v9 -460 1.0 150(13 6 44 V+1 *A -450 0.0 16.0
6 - 7.9 -7 91| - 7 9.1
13 4 D842 Basta kontrakt 14 4 E104 Basta kontrakt 15 4 K84 Basta kontrakt
Nord v K106 2v O =-110 Ost v K73 5NT S =460 Syd v D764 3NT V =-400
Alla + 1097 Ingen + EKn9654 NS +95
#Kn52 & ¢ v & NT &3 & ¢ v & NT #DKn82 & ¢ v & NT
4Kn973 4 E10 N6 556 6 4 K6 & Kn872 N 8 119 1111 492 & EKN73 N53 3514
v 843 v DKn52 S 6556 6 vKn1084 vD52 S 8 119 1111 v 85 vEKKN109 S 5 3 3 5 4
¢ KKn4 ¢ D853 O7 88 66 + 1087 ¢+ D2 052422 ¢ E1032 D87 O 8 109 8 9
&ED6 #1073 V78766 #EKN96 #10874 V52422 #E10653 &7 V899 89
4 K65 4 D953 4 D1065
vE97 v E96 v 32
+ E62 + K3 + KKn64
K984 #KD52 K94
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 13 INS= &6 90 140 20 5 9 3NS+2 s K 460 150 1.0|16 3 4v0O-1 +6 50 150 1.0
15 6 INN= v2 90 140 20| 7 13 3NS+2 &6 460 150 1.0|18 5 4v0O-1 &4 50 150 1.0
17 10 INS= v8 90 140 2.0(18 4 3NS+1 v4 430 120 40| 1 14 24 O= &4 -110 10.0 6.0
5 9 INS-1 43 -100 80 80|16 2 3NS= va 400 100 60| 2 4 1lv O+1 45 -110 100 6.0
11 20 14 S-1 a3 -100 8.0 80|11 20 2¢ N+3 &7 150 70 90| 6 10 24 O= *4 -110 10.0 6.0
16 2 24 N-1 vQ -100 8.0 80|17 10 3¢ N+2 48 150 70 90|13 8 2v O+1 *4 -140 6.0 10.0
18 4 INS-2 43 -200 40 120 1 3 2¢ N+2 &T 130 40 120115 7 2NV +1 L] -150 4.0 12.0
1 3 INN-3 vQ -300 1.0 150(15 6 2¢ N+1 v2 110 20 140|120 12 1v O+3 +6 -170 2.0 140
14 12 24 N-3 vQ -300 1.0 15.0(14 12 44 S-1 &6 -50 0.0 16.0(17 11 3NV +1 +9 -430 0.0 16.0
8 - 8.0 8 - 8.0 9 - 9.4
16 4109 Bésta kontrakt 17 493 Bésta kontrakt 18 & Kn53 Bésta kontrakt
Vast v 7653 5NT V =-660 Nord v D102 4v N =420 Ost v K93 4y OD-1100
ov + KKn9 Ingen + EDKn92 NS + E10985
#K985 & ¢ v & NT #KKn10 & ¢ v & NT #K8 & ¢ v & NT
«E5 4 DKn743 N2 4332 4762 & KDKn5 N 8 9 109 9 4 K109842 «D6 N 10104 4 8
v EK10 v Kn42 S24332 vKn6 vK87 S 8 9 109 9 v 874 vEDKn10652 S 10103 4 7
¢ E83 ¢ D42 O 119 109 11 ¢+ K853 ¢ 1064 O5 4344 *7 ¢+ Kn 033995
&#EDKn43 #107 V 119 101011 #6542 #E73 V5434414 #1073 &ED5S V33995
& K862 4 E1084 aE7
v D98 v E9543 v-
+ 10765 .7 + KD6432
»62 D98 #Kn9642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
114 3NV-1 &9 100 150 10| 9 13 1¢RDN+1 &A 430 16.0 00| 9 13 6¢ N= &A 1370 16.0 0.0
13 8 6#V-1 aT 100 150 1.0(20 1 4v S= a7 420 140 2.0|17 12 5¢ N= vA 600 140 2.0
18 5 3NO= +5 -600 11.0 50|16 4 INN+3 &K 180 120 4.0|20 1 5v0O-2 *+ K 100 12.0 4.0
20 12 3NV= T -600 11.0 50|14 2 2y S+2 46 170 100 60| 3 5 4v0O-1 + K 50 8.0 8.0
17 11 44 V= aT -620 80 80| 8 15 INS+2 46 150 70 90| 8 15 4v0O-1 *+ K 50 8.0 8.0
15 7 3NV +1 &8 -630 50 11.0|18 6 2NN+1 &K 150 70 90|16 4 4v0O-1 *+ K 50 8.0 8.0
16 3 3NV +1 &9 -630 50 11.0| 7 11 2v S+1 +3 140 40 120(|14 2 5¢ S-1 v8 -100 4.0 12.0
2 4 3NV+2 &5 -660 1.0 150 3 5 INN+1 &K 120 20 14018 6 1v O+3 s A -170 2.0 140
6 10 3NV +2 v7 -660 1.0 15.0|17 12 2v S= &6 110 0.0 16.0| 7 11 5¢DS-1 v7 -200 0.0 16.0
9 - 9.4 - 10 80| - 10 8.0
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19 410932 Basta kontrakt 20 41094 Basta kontrakt 21 4 K983 Basta kontrakt
Syd v 108643 34 S =140 Vast v K73 INTV =-90 Nord v 93 ANT O =-430
oV +K Alla ¢ EKn73 NS +43
#KDKn & ¢ v & NT #753 & ¢ v & NT +Kn9654 & ¢ v & NT
# Kn54 476 N76 798 & K87 « E632 N6 6 6 66 «Kn42 4E1076 N53 443
v7 v EKD95 S76798 vE94 v Kn82 S 666 6 6 vKn76 vK842 S53443
¢ EKn7632 ¢ 109 06 6545 ¢1065 ¢ K842 o7 7777 ¢+ KD98 ¢ E72 O 7 109 9 10
#932 #10875 V66545 #DKn86 #K10 v7777T7 #ED7 #K3 V799810
» EKD8 & DKn5 D5
vKn2 vD1065 vED105
+ D854 + D9 + Kn1065
*E64 #E942 #1082
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 14 44 N= vA 420 150 1.0(18 7 2NV-2 +3 200 160 00| 2 17 3NO-1 8 50 150 1.0
17 1 44 N= vQ 420 150 10| 3 14 14 0-1 v6 100 130 30| 5 7 3NV-1 48 50 150 1.0
20 2 34 S= v7 140 120 4.0| 5 16 INV-1 aT 100 13.0 3.0|11 13 INV= *4 -90 120 4.0
516 INS+1 42 120 100 6.0|15 9 INN= a2 90 90 70 9 1 2v0O= 8 -110 9.0 7.0
15 9 1a S+1 v7 110 80 80[20 2 INN= 2 90 90 7.0(10 15 2v O= &T -110 9.0 7.0
4 6 44 N-1 vA -50 3.0 13.0| 8 12 Pass 50 11.0|18 8 3NV= &4 -400 5.0 11.0
8 12 44 S-1 v7 -50 3.0 13017 1 Pass 50 11.0(20 3 3NV= &4 -400 5.0 11.0
13 10 44 S-1 2 50 3.0 130 4 6 INV+2 +3 -150 2.0 14.0|14 4 3NO+1 vT -430 1.0 15.0
18 7 44 S-1 v7 -50 3.0 13.0(13 10 INS-2 a7 200 0.0 16.0|16 6 3NO+1 &T -430 1.0 15.0
- 11 113 - 11 113 - 12 10.2
22 & EKn5 Bésta kontrakt 23 48754 Bésta kontrakt 24 4754 Bésta kontrakt
Ost v73 2NT S =120 Syd v DKn10 ANT O =-630 Vast v 10832 4v N =420
oV + KDKn10 Alla ¢ 97 Ingen ¢+ Knl10
#Kn1064 & ¢ v & NT #8765 & ¢ v o NT #K843 & ¢ v & NT
D874 4K9 N8 7 6 78 a2  KDKn3 N6 2552 21092 4 KKn6 N7 7 108 7
vEKn42 vK96 S87 678 v 965 v K84 S6 2552 v 64 v K95 S 7 7 108 7
¢43 ¢ 97652 045765 ¢ EKDKn42 ¢ 10653 O 7 118 8 10 ¢ E543 ¢+ KD2 06 6 3 45
*E73 982 V457¢675 *EK2 *D4 V698738 #D1072 #Kn965 V65345
# 10632 « E1096 « ED83
vD1085 vE732 v EDKn7
¢+ E8 +8 + 9876
*KD5 #Kn1093 *E
Par  Kontr ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr ut Res Poéang
9 1 2NN+1 +6 150 140 20| 5 14 5¢ V-2 vQ 200 12.0 4.0|12 13 1v S+2 «Q 140 150 1.0
10 15 INN+2 *7 150 140 20| 7 16 5¢ V-2 vQ 200 120 4.0(|20 4 2v N+1 &5 140 150 1.0
20 3 INN+2 *9 150 140 20| 9 18 5¢ V-2 vQ 200 120 40| 7 16 2v S= &7 110 10.0 6.0
11 13 2NS= a4 120 10.0 6.0|12 13 5¢ V-2 vQ 200 120 40| 9 18 2v N= 46 110 100 6.0
5 7 1vS-1 +3 -50 50 11017 3 5¢ V-2 vQ 200 120 40|17 3 1v N+1 +K 110 10.0 6.0
14 4 1vS-1 ¢4 50 50 110(20 4 5¢ V-1 vQ 100 6.0 100 5 14 24 0-2 +9 100 4.0 12.0
16 6 24 S-1 ¢4 50 50 110 6 8 3¢ V= vQ -110 4.0 12.0|10 2 3#0-2 vA 100 4.0 12.0
18 8 3NN-1 *2 -50 50 110(10 2 5¢ V= vQ -600 2.0 14.0|15 11 2NO-2 +9 100 4.0 12.0
2 17 34S-2 ¢4 -100 0.0 16.0|15 11 3NO+2 &9 -660 0.0 16.0| 6 8 3vS-1 *2 -50 0.0 16.0
- 12 102 - 1 63| - 1 6.3
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